EARAROBEEIERT — 2 N— IBISH —F

201458718H (B) 12@EE&HE1H

WBPEZTE ABTEERBHTED C8 HZ—M EEE R
[AE£] 1% :135,000” ~ 2#&:25000M”  33#%&:10,000 M  4%&:6,00H ~ 5%&%:0MH
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
DY # 4 | WTHZ 1:32.7 1-1-1-1 | 39.4| — 2 444 | FREFA (BHE)
1/8|8| 7L/ A>FI %~ £52.0 [ Ch | (@ J PN
XY T bt —T7—K—FK B:ULTT1H— b e]
5 B 4 | RIBAEB 1:33.7 4-4-4-2 | 39.8| — 5 489 | REBL— (BHE)
21| 1|TNIAHS 54.0 ® e | B) K-25T
iR TA MY XI B:vANTLZA REA77— L
S 4% 5 | BEXC 1:34.1 3-2-2-3 | 40.5| — 4 463 | BEEIEA (5542)
35|5 | NT—2% A51.0 @) ey | B iy
RiF—TNTN—k BHFAY—V T AREREES
# 5 | RRSEH 1:35.0 5-5-5-4 | 40.9 | — 3 474 | ANES] (BHE)
4l8lo| X7 /LA A5300 @ 10y | B
R:viNygLHT7r B:YOFEATR HEAS
=N B4 | ABER 1:35.7 8-8-8-6 | 40.0 | — 9 369 | R (5£42)
T2/ AXZ> 54.0 ®3) 6 | (B JP Nﬁﬁﬂ
Ribh—t2d22 B:77%2—5 FEX 2V K
=351 — # o4 | AUUfEST 1:36.2 7667 |40.7| — | 8 | 454 |HEHRIE (BEHE)
= 56.0 (2 1/2) 7 | B 7r-—2rEvar
L:T7LBAT149 7714 8 BTNy g—L—- I vIN> - T7—LERE
N N DAEEFIGE -9-9— — FREBS (B5E)
Jym A4S g — it 4 Ines 1.(3263.6 9-9-9-8 | 40.8 7 ;4:)72) RS (ERE
Kwv¥/ by THY BT4TLAYa— AR
N #F_EBLE : -3-3- — BEria—A (BEE)
A4 1Y T RXy R i 7 = 1(.13;52.)7 2-3-3-5 | 43.0 6 zzg; Ay
R:ByTELRSF— BiRYIL A%y b FH)Tr—L
“ . 4 4 | AALE— 1:36.8 6-7-7-9 | 41.2| — 1 419 | BEBC (BHE)
9|7\ 7|7V LT v 54.0 (172) v | B K-zrT
L:7L>FFEaT B:xyOuAry TS ¥
® I—F—@EBIERL
13—7F— 8,6,5,1,9,7,3,2,4
Ao=5"= 8,5,6,1,9,3,7,2,4
3T—7— 8,5,6,1,9,3,7,2,4
43—+ — 8,1,5,9,6,2,3,4,7
[ RN
B R 8 340M | | 71 K 1-8 720M | | B E 1-8 1,420/ | | 3:&4& 1-5-8 2,810M
% B 8 140 5-8 01| | B = 1-8 1,760 | | &8 8-1-5 11,8009
1 270M 1-5 1,000H B H 8-1 3,340M
5 220M

ABICOVWTRDTEEERROODE. TR LIV,




